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I hurt myself. The underlined word is a:
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Fill in the blank using the appropriate option:
Prakash tennis for an hour

when the news of his selection came in.

(1) had play (2) had been playing

(3) had played (4) had been played

He looked after the children well.

Which of the following is correct passive voice?
(1) The children will be look after well.

(2) Look after the children well.

(3) The children were well looked after.

(4) Well looked after were the children.

Choose the active voice of. ‘

Saina had been supported by her maternal aunt.
(1) Saina supported her maternal aunt.

(2) Saina’s maternal aunt supported Saina.

(3) Saina’s maternal aunt had supported Saina.

(4) Saina’s maternal aunt had been supported by Saina.
He says, "The earth is round."

(1) He tells that the earth is round.

(2) He says that the earth was round.

(3) He talls that the earth was round.

(4) He says that the earth was is round.

His father is M.L.A.
(1) an () a
(3) no article (4) the

Are you sure there aren't more letters

to past?
(1) any (2) much
(3)little (4) very

I never asked her to come with me. (Interrogative).
(1) Do I ever ask her to come with me?
(2) Did I not ask her to come with me?
(3) Did I ever ask her to come with me?
(4) Did I ask her not to come with me.?
Choose the correct translation:

"No action is requjred."
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“The discharge petitions is kept in abeﬁnce’.‘

o1 g & Wt wuraTer gm?

(1) wrfgf e i wf T
(2) Fargf e 1 FreAfT @ T R |

(3) == At @) wedfiTa @ T |

(4) e afas = eafia T T ¥

42

43
44

45

47

48.

49.

e

50.

~(3) ufyeEtt

- - -

Fﬁ ¥ fow wi&g &1 atdt Endorsement q g

& 2

(Iy ¥y @) =

(3) wHd (4) g
Discretionary Power /A Hag T ¢

(1) eyt - (2) @

(3) et (4) S

forq faea ¥ ""Exceptional"" Y755 T HHERE =t
it oree WEt TR & |

(1) faf¥re (2) AIARTF

(3) SRS (4) STRER

Choose the correct exclamatory form of the
following sentence from the given options:
Krishna lectures wonderful.

(1) How wonderfully Krishna lectures!
(2) How Krishna lectures wonderfully!
(3) How lectures Krishna wonderfully!
(4) How wonderful are her lectures!
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